A L B =
2 K B 4 EEMEA 2 N € #B 1,300,950
(FRiAH)

Af = B ERE 25 F£ 12 A 2 A ¥ OE M % 4,881,000

FE 1T EARR (#ARE) ERk25F12H28 ~ FR265E2AH28H AFLE L8 4% (100/105) 4,648,572

% L % & tF—T7UoRN— X% R OE A A% —

LE B {fi#& (1007 105) —
T £ 5 — 2 AL 2= 26.65%
A#L&%5(100/105)
x E 4 i
%=1 %2[q %30 $4[0 5[0

1 |2F—7oRN— XK ett 1] 1,239,000 %L BEFALL
2 [ERXEHRF= 2| 1,979,400 BEFAFR
3 [IREPE M=t 3| 1,980,000 BEFAFRL
4 (HPE#IERASH 4| 2928000 FEAAL
5 |E—EFH%As4 iR BEF AL
6 A EithirX &4t B BEF AL
7 |Bi/N\yT—RFEY—EXRX & iR BEF AL
8

AFLENTT EFE #ik IRE IBE E




